R(A) Normreflexion
OstwaldFarbe: Gelb Y,11=495 ;=700 Ag=570
Dreiecks-Helligkeit

!

R(A) Normreflexion R(A) Normreflexion
OstwaldFarbe: Griin G, A1=470 ,A,=570 A¢=520 OstwaldFarbe: Rot R, A1=570 A2=700 A¢=595
Dreiecks-Helligkeit 1 ROV Dreiecks-Helligkeit 1

1,00

- Cht 1 -
R(A) Normreflexion Name & Spekzua\berelch 48 Normreflexion
OstwaIdFarbe Cyan C, ;=400 =570 \g=495 Ry 570_770 ¥, 520_770 OstwaIdFarbe Magenta M, A1=570 A,=470 \g=520c
Dreiecks-Helligkeit 1+ G 470_570 G, 380_570 Dreiecks-Helligkeit T+

1,00 Bm 380_520 M, 5 1,00
6 Optimalfarben (0), Y,y=90,
6 von maximalem (m)C,

R(A) Normreflexion
OstwaldFarbe: Blau B, A=
R(N)

Normreflexion
0,036<R(\)<=!




